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b[1][1] = 0 b - [3, [5, 0]]
OyHkumsa list co3paét HoBbiM |t = Llist(s) s - [2, 0]
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def __repr__(self):
return Bourgeoisie.greeting

, 91 paboTai’
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class Worker:

greeting = 'Cap’

def _init (self):
self.elf = Worker

def work(self):
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greeting = 'PaboTHUK'
def work(self):
print(Worker.work(self))
return 'd borarteiw'
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class Worker: >>> Worker().work() <class Worker>
greeting = 'Cap' 'Cap, a paboTaiw' -, .
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self.elf = Worker >SS jack
def work{selr): . , , <class Bourgeoisie>
return self.greeting + ', 4 paboTaiw

def __repr__(self): greeting: 'PaboTHuK'
return Bourgeoisie.greeting
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. <class Bourgeoisie>
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return Bourgeoisie.greeting
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self.elf = Worker >>> jack
def work(self): '"PaBOTHUK
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return self.greeting + ', a pabortaw’ J

def __repr__(self): >>> jack.work() greeting: 'PaboTHuK'
return Bourgeoisie.greeting

class Bourgeoisie(Worker): jack <Worker>
greeting = 'PaboTHUK'
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return ' 6orartew’
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return self.greeting + ', a pabortaw’ J

def __repr__(self): >>> jack.work() greeting: 'PaboTHuK'
return Bourgeoisie.greeting 'Mam, s paboTaw'

class Bourgeoisie(Worker): jack <Worker>
greeting = 'PaboTHUK'
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print(Worker.work(self)) greeting: 'Mam'

return ' 6orartew’
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def work(self):
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def __repr__(self):
return Bourgeoisie.greeting
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def work(self):
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class Worker:

greeting = 'Cap’

def init (self):
self.elf = Worker

def work(self):
return self.greeting +

def __repr__(self):
return Bourgeoisie.greeting

, 91 paboTai’

class Bourgeoisie(Worker):
greeting = 'PabOTHuKK'
def work(self):
print(Worker.work(self))
return 'd borarteiw'

jack = Worker()
john = Bourgeoisie()
jack.greeting = 'MaM’

>>> Worker().work()
'Cap, 4 paboTaw’

>>> jack
'PaboTHUK'

>>> jack.work()
'MaM, 9 paboTaw’

>>> john.work()
PaboTHUK, 4 paboTaw
'l borarteiw'

<class Worker>

greeting: 'Cap’

<class Bourgeoisie>

greeting: 'PaboTHuK'

jack <Worker>

elf:
greeting: 'MaMm’
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[lonck MMEH CcHa4vana npoucxoauT B aTpubyTax skK3emnnapa, 3aTeM B aTpubyTax Knacca;

aTpubyThl KJlacca HacnenywTcs.

class Worker:

greeting = 'Cap’

def init (self):
self.elf = Worker

def work(self):
return self.greeting +

def __repr__(self):
return Bourgeoisie.greeting

, 91 paboTai’

class Bourgeoisie(Worker):
greeting = 'PabOTHuKK'
def work(self):
print(Worker.work(self))
return 'd borarteiw'

jack = Worker()
john = Bourgeoisie()
jack.greeting = 'MaM’

<class Worker>

>>> Worker().work()
'Cap, 4 paboTaw’

greeting: 'Cap’

<class Bourgeoisie>

>>> jack
'PaboTHUK'

>>> jack.work()
'MaM, 9 paboTaw’

greeting: 'PaboTHuK'

PaboTHUK, 4 paboTaw
'l borarteiw'

elf:

greeting: 'MaMm’

~>> john.elf.work(john)  john <Bourgeoisie>
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class Worker:

greeting = 'Cap’

def init (self):
self.elf = Worker

def work(self):
return self.greeting +

def __repr__(self):
return Bourgeoisie.greeting
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class Bourgeoisie(Worker):
greeting = 'PabOTHuKK'
def work(self):
print(Worker.work(self))
return 'd borarteiw'

jack = Worker()
john = Bourgeoisie()
jack.greeting = 'MaM’

<class Worker>

>>> Worker().work()
'Cap, 4 paboTaw’

greeting: 'Cap’

<class Bourgeoisie>

>>> jack
'PaboTHUK'

>>> jack.work()
'MaM, 9 paboTaw’

greeting: 'PaboTHuK'

PaboTHUK, 4 paboTaw
'l borarteiw'

elf:

greeting: 'MaMm’

~>> john.elf.work(john)  john <Bourgeoisie>

'PaboTHKUK, 9 paboTai’
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nonlocal bolt
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dead(abs)
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dead

- ~ ~func dead(bolt) [parent=G]
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